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KEY 

 

Exercise 1: Gestures In the following presentation, the speaker is very boring because he 

is not using gestures.  Choose gestures from below to help emphasize the important 

parts of his talk.  

e.g.: B  1. C 2. A 3. D 4. F 5. E 6. G 

/6 

Exercise 2 Guy Fawkes and the Gunpowder Plot Go through the maze joining up the 

multi-word verbs which complete the sentences. If you join them up correctly and take 

the alphabet letters in the corners of the squares you will see the name of the leader of 

the plotters. 

The name of the leader of the plotters: ROBERT CATESBY 

One correct verb (= one correct letter) means one point 

/12 

Exercise 3 Stop Damaging the Earth Use the words in the box to complete this text about 

the environment. Write one word in each space. 

e.g. destroying 1. breathe 2. dusty 3. spoil 4. rubbish 5. minerals

  

6. fuels  7. poverty 8. prevent 9.rescue 10. urgent 11. inhabitants 

/11 

Exercise 4 Searching for a DVD The people below all want to watch a DVD. There are 

descriptions of eight DVDs. Decide which DVD would be the most suitable for the 

following people. Write the title of the DVD next to name of the person. 

Michael Eddie Natalie Vincent Sophia 

1. RABBIT RUN 2. BY THE 

OCEAN 

3. TWO WEEKS 

AND A DAY 

4. THE LAST 

CHANCE 

5. UP & AWAY 

One correct reply = 2 points 

/10 

Exercise 5 Earth Day Read the text below and circle the correct answer. 

1.b  2.c  3.b  4.a  5.c 

One correct reply = 2 points 

/10 
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Exercise 6 In a different way Here are some sentences. Finish the second sentence so that 

it has the same meaning as the first one. 

e.g.: I paid Ł3 for my entrance ticket.   My entrance ticket cost Ł3. 

1. You can get/buy/find catalogues at the desk. 

2. Some of the paintings in the exhibition were lent by private collectors. 

3. The Post Office has a complete set of telephone directories. 

4. You must leave your umbrella / all umbrellas at the desk. 

5. It costs more to send things by airmail than by sea. OR It costs less to send things by sea 

than by airmail. 

One correct reply = 2 points 

/10 

Exercise 7 Five pockets What has this man got in his pockets? Put the letters for each 

thing in the correct order, and write the words in the correct boxes. The pictures below 

help you. 

 

 

0.5 point for the correct spelling and 0.5 point for putting the thing in the correct pocket. 

/10 

  

CAR-KEYS 
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Exercise 8 Common verb opposites – spiral Numbered clues which appear below the 

spiral grid, are opposites of the verbs which go in the spiral. Determine the word that 

matches the clue, and write that word in the spiral puzzle. The word does not overlap 

with the next word (marked by the next number) and it must be written in the correct 

direction (from a lower numbered space to a higher numbered space). 

 

Other possible answers: 

3.rest  5.study  6.like  7.stay  10.smile  13.get 

/15 

Exercise 9 Jake Houseman’s possessions Read the text and complete the following 

exercise. Write sentences about the people, places and animals from the text, using who, 

which that, whose, where.  

 

e.g.: Martin, who is Jake’s brother, was out when he called on him. 

1. who’s Jake’s / his other brother 

2. which was/is very cheap 

3. which was/is a very new type of computer 

4. who was/is his / Jake’s neighbour 

5. who was/is Geraldine’s dog 

6. who was/is his doctor 

7. who was/is another doctor 

8. who was/is his/Jake’s neighbour (on the right) 

9. who/that was/is Gloria’s dog 

10. who was/is another doctor 

11. where Jake/he wanted/wants to live 

/11 
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Exercise10 British or American English You are in the U.K. but unfortunately you forget 

the English equivalent of some words. Try to correct your mistakes and use the British 

equivalent of the words in bold. 

e.g. : flat  1. queue 2. pavement  3. trainers 4. lift  5. bill 

/5 

TOTAL:               /100 


